ME{ 2o =

MESEEA ZAT SEHE 302 MEAF O &

ol
e =

=]

or

Ho
Ho

2025. 07. 09.



—

L
o

off o2t

b M|k,
o

=

39A|CH)

i
=]

ﬂ
S
E
EI-E.

—_
o =
287|1&,

H

=
o
75"!'

Q

=x

=l
=
| O

—
=

[o]
2

_|

7
(i

H

E
=

It 61MCHEEZSE 22MITH,

o
[

F

7
—

u]
[

|

o
=

SEX

=

CHZ 302 MEHAF O]
x

o

Z 3}
=2 Ft2

F

=
S

P

716M|CH
- MEAH O

- Al AHHTHARE A -

 MEEEA EMT
o

- =x=
Mol =

AL
o .

2
- B A3

k=3

EH

=
T
s
=]

[ 7% 748 |

LHE SOoil a2t CHE

&40k
=

Aletel

o
=

EE", M40z A M

-
ot

o

L|CF.

I

=

o
o

SX|3}0{0}
G|O|, 7IEFARSLS AOHHIZA] AIQRIOIH b

1 7HUTIHA

[

e
[=)

H

=

=)

o] ek 2

Ao} #o|z

o
=

M

—

—

X = FEO| YOiArAL
2Jxtelo] A

od

H
=

ICHREA 2f 7| 2

P ATHKEAISE AIRHE AFO] M2

AIZ] BREHLICE (=R 2

L|ICt)

I

=

o

A HM40Z=0 2|H, BEES+TR2| 75%= YUAIEAZL RESHL, 25%=

F510{0F

L|
He= i
F

o g

PSS
o

.|

X7t
X A MZ ™ 7t

o

HHY) TMAEE CHEOl 27tsd & AU AN MZ H 7t

—

o
E|I:|

Af
71202 2EH0[H, A

=

B YFO0IER 7hele] ARz

At
(=]

L{ch)

3

=

e

IE{(02-2659-8883)2 S

|2 YOkt A

o
Al

|

=T
=

NEG

g C}

tEn0| WEO| RuAl £l & F7t
=
e

32 M0}

2

=]

=
o

OF
F

A
i)

!

=]
=

KAl Alofl= 2

.
o

ok 7o}

(o]
;

O|& HELICH

o
o w2k ¥oHel

F7tE3 00t X|XF1(2025.04.18)2] LIEO| M2 A

S0 F7|&[X]

chxt 7
2 g

O| ol
=l O

H

ISEA|Z| BEEFLIEE (A
E

—
=~ o 7
TEH2

=
e

UgLICt

=
—

o

k=13
=

=
[—



T
X
ol
._ﬁl
% | & &
Ko S
= NN
o o
w._-n_ [Fp) [Fp)
o | 83
E.W [qV] [qV]
<
Z
110
A
o o
Mnma =3
S | 5E
x3 0
= o
o
[qV]
A
K0 - ™
g 2858
o 22 ok
DU Y <
o o
(V] (V]
A
= [ r
_A_v.a _.J.A(_l\
K= IS
UKD o o
OH__U._ N N
o

ol
[}

a

ol

IA|ZF 12:00~13:00)

A
fom B

2 10:00~17:00 (

(e]]
=
. https://centersquarebs.com/

2.

: 02-2659-8883

- Efs
- 20|

i

i Z=AIZ] BFELIC

.
o

{| O| K| (https://centersquarebs.comy/)

I

=
[==]

L|CY.
oI Rt = 45k, of

St
=1

1= MFE MIZsHOF

o
=

HEEA|

HZ Al

OF
=24

A MEHE XA

=1
=

49| 500%(5Hi=)

o

Al OH[ =2 S5otH, oH|xte] f=717t2 6/ EULICE

Sz IH &Y

Xto| E|A

K-

3

QILICE.

2!
=

12 250, R27|7t2 671

tof SEOH2E) T 10| HE=Z 14

.
o

=
M

TMCH=z 2+

Jd

L|C}.

{1

o=

K4

4

MZ T

3

ol

A

ol
ol

B 2 Mo =

b2 Fofl et KXY

prul
—

X2l

xx7} 0|20 F & 9



ORI
il
rot
Olok

(549] : pHe)
- =7 - HEZ 30% HZE2 40% 253 50%
se | 52 | =+ | =83 | wus | 283 | wu= | w33 | W=

(=]
19‘33”‘ 10 7,300 59 9,700 50 12,100 42
22-(:3?m 3 8,000 65 10,600 56 13,300 46

PSIE :

22| g 36'(%’”‘ 10 12,000 92 16,000 79 19,900 66

N =1 :

o= | 4102m 7 12,700 98 16,900 84 21,100 70

su 1)

43-(9D7)m 8 13000 | 102 | 17,500 87 21,900 2

4?5’_‘1;“ 1 13,700 106 18,200 91 22,800 76
= 7 39

36-(9(’:9)“ 13 10,100 78 13,400 67 16,800 %5

AlS | E :

c= | 52| 410m 8 10,700 83 14,200 71 17,800 59

TT |oH (&)

43-(9D7)m 1 11,000 86 14,700 73 18,400 61
= 7 22
B 61

35%, 45%, 2,0007H3 (A, BEtY) 3,0002H3(C, C-1, D, D-1EtY
HPS ATt ©el 7t

o, HAIE HEZ 2 At 2SS9

=7t

- O

AUESES & YUH=2 [MESHAL E YUEE YHESS2E HES



K

L|C}.

L

.
o
=

7|= YL Ct
el BEHSOY 7|F 19M| Of4f 394 0|5H0{ OF
=
S

=
=)
7|_|-
o
O

ol X of oH

SLiC
bl
=0

o
o

d10|0{Of
|
X

L ct.

I

e
o
=

1 0] Of OF

B 1 e A

. 2025 ASIIE - HO Al of2fe] &5 7IF0 wa}

M7Fe| Li8o| CHE

3

-
o
—

E3 Mz

MEE SA22R 7hpes

<

o

il

=
[

- A ZES}

[ee] on [ee]
IR T
N EARERS B0 #H0
AR AR o Ko
wa o |lo | o KM KM
R KR
Foorar
Ior KO
(0] N~ O ﬂ_ _ATHNﬂ
:I o [e)] o —_— o o
Ll ||~ as 0 = —
SHEE vz
ol s ~ = U0 K K
S| ®| 2 ol EE
KF 4 4
ol ol < ol KO
5SS K-
=8|l X TR
N O @) (V]
[gN] o] LN
= | QM
wa N | oo | o
8133
Tl a|lr| <
N NN
S8~
ol sl &S| < oo | 3r
oF | K |
<k <
slglslEl |2
TFl=la|~| K < | =< |8
NI RIS o 5 E ) R
S| 222 R ur | o
- ™| ¥ = ofu | ofu
o iy iy
i | x| A
4
XXX ol
o o o
oF I | oF % % %
KH H | <K | <H
d | oF | oF | oF N [H|— || >
H | <H | <KH ar
— (qV] o™ K

. 2025 RHEA ZHAU7|E - RS AQOHX| LALL, OFY JlyiCt M Jjeo] Kt

XpESX7HY

« 2025 XM=

H 1

ofl
ol
ED

337

A
30~39M 7t 7|&E A&

7gL

254

H(=ZQl) At 7|E2 30~39M| 7IF 5%= &

o

ol

o

Ho

o

X R 9 R RS AL

=)

ER
or
N
=
1Ho
K
ol
)
<
THr
Ljo
]
o
N
oo
<
=)
{0
MHr
ulo
% o
o
3 ©
N g
K ™
~ KH
N~
|_|._|L ..
RN
w_u"_l =
noar
N
uo w
K 1o
<l K
< do
K =
"COmr
= U



1| O| X| (https://centersquarebs.com) &X| 5

=
[==]

m X

=Xt

Ofl I SR A

=
[

tO] MICH

Ct
=]

- OflH[ AL

2 o gLt


https://centersquarebs.com

